Classique 7 D’a rd ! Mais lement possible du jeu
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90 MODE 0 :RANDOMIZE TIME:SPEED INK
20,203 BORDER 10

100 DEFINT A-z:DIM t(20,19) F(6),J¢
10) ,X{6),Y{6),e(20,19) ,R(b6) ,A(b),mo
(20,20)

110
120 SYMBOL
130 SYMBOL
98

140 SYMBOL
.24

150 SYMBOL
55,126,40
160 SYMBOL
52,126,460
170 SYMBOL
55,126,460
180 SYMBOL
126,60
190 SYMBOL
5,126,60
200 SYMBOL
26,60

210 SYMBOL
39,110,44
220 SYMBOL
31,66,0
230 SYMBOL
55,85,170
240 GOSUB 1720

:=====::;E;=Z:;============

245,2,5,8,20,98,247,247,
246,0,24,36,36,36,66,255
247,60,118,255,255,240,2
248,60,118,252,248,240,2
249,52,118,247,183,2585,2
250,0,66,231,183,255, 255
251,60,110,2585,2585,15,25
252,60,110,63,31,15,63,1
253,60,126,255,2558,237,2
254,60,126,255,255,237,2

255,60,126,219,255,255,2
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[2733

(8191

250 LOCATE 2,10:PRINT "Veuillez pat
ienter"

240 '====s=s=s==z=z====z==========

270 J{1)=1:10(2)=2:0(4)=3:0(B)=4:J(9
)=4:J(10)=43ENV 1,1,15,5,1,-5,5,10,
o e

280 B=0:8C=0:VI=3:M$=CHR$(255) 1 MA=5
000:pt=1:t=300

290 FOR I=1 TO &:X(I)=11:1Y(I)=101A¢
D)=1:F (D) =0:NEXT T:X=10:Y=13:PIL=1:
FOR I=1 TO 4:R(I)=I1:NEXT I:A=INT(RN
D(4)#3+1):C=INT(RND(4)#3+1):R{A)=C:
R(C)=ATINK 12,181fruit=0

300 ON ERROR GOTO 1540

310 '=======ss=sc=ssagEmmms====

320 FOR I=1 TO 19

330 FOR J=1 TO 20

340 READ t(J,I)sIF t(J,1)=0 THEN t¢
J,1)=144

350 IF t(j,1)>189 OR t(j,i)<145 THE
N ef{j,i}=0 ELBE e(j,il=1

360 NEXT J,1 :

370 DATA 150,154,154,154,154,154,15
4,154,154,156,150,154,154,154,154,1
94,154,154,154,156

380 DATA 149,0,0,0,0,0,0,0,0,149,14
9,0,0,0,0,0,0,0,0,149

390 DATA 149,0,146,154,158,156,0,14
8,0,149,149,0,148,0,150,158,154,152
,0,149

400 DATA 149,238,0,0,149,149,0,149,
0,147,153,0,149,0,149,149,0,0,238,1
49

410 DATA 151,154,152,0,149,149,0,14
9,0,0,0,0,149,0,149,149,0,146,154,1
57

420 DATA 149,0,0,0,147,153,0,147,15
4,152,0,146,153,0,147,153,0,0,0,149
430 DATA 149,0,148,0,0,0,0,0,0,0,0,
0,0,0,0,0,0,148,0,149
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440 DATA 149,0,147,154,154,158,152,
0,150,32,146,156,,146,158,154,154, 1
53, ,149

450 DATA 153,0,0,0,0,149,0,,149,32,
324149,,,149,,,,,147

460 DATA 32,,146,152,,149,,146,157,
32,32,151,152,,149,,146,152, ,32

470 DATA 156,,,,,149,,,149,32,32,14
9!!!149I!!!!150

480 DATA 149,,150,154,154,155,152,,
147,154,154,153,,146,155,154,154,15
b,,149

490 DATA 189, 4185, 444994325549 994941
45,,149

500 DATA 149,,,,150,156,,150,154,15
2,,146,156,,150,156,,,,149

510 DATA 151,154,152,,149,149,,149,
ey 149,,149,149, 186,154,157

520 DATA 149,238,,,149,149,,149,,15
0,156,,149,,149,149,,,238,149

530 DATA 149,,146,154,155,153,,145,
1149,149,,145,,147,155,154,152, , 149
540 DATA 149, ,,,,,,,,149,149,,,,,,,
y1 149

330 DATA 147,154,154,154,154,154,15
4,154,154,153,147,154,154,154,154,1
54,154,154,154,153

560 '======z=zz========z===z=z=z=z=s====

570 ‘==========PARCOUR========z=z==z=

580 S===m=====sSc========s

590

600 FOR I=1 TO 19

610 FOR J=1 TO 20

620 PRINT CHR$(T(J,I));

630 NEXT J,1

640 PRINT:PRINT"SCORE="};8C

6350 PRINT:PRINT"VIES :";:FOR D=1 TO
VI:PRINT CHR$(247)3:NEXT O

660 AFTER 1000+RND(5)#1000,2 GOSUR

1630

470 '====s=s=s=s======zz=z=z=z==z=z====

680 ‘===== DEPLACEMENT PAC =======

490 '‘s=======sz==z=========zzm==z==z=====

700 i=-{

710 i=i+2

720 ON mo¢x,y) GOTO 740,750

730 GOTO 760

740 mofx,y)=0:IF pil={ THEN 1340 EL
SE GOSUB 1280:G0TO 740

750 mo(x,y)=0160SUR 1690

760 X1=X:1Y1=Y:ON J(JOY(Q)) GOTO 780
,800,820,840

770 GOTO 850

780 IF efx,y-1)=0 THEN Y=Y-1:D=1:60
T0 850

790 GOTO 850 '

BOO IF eflx,y

+1)=0 THEN Y=Y+1:D=3:60
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1200 LOCATE X(I)=-1,Y(I):PRINT CHR$(

TO 850

810 GOTO B850

820 IF ei{x-1,y)=0 THEN X=X-1:D=2:860
TG 850

830 GOTO 850

840 IF e(x+l,y)=0 THEN X=X+11D=0
850 B=-B+l

860 ON mofx,y) GOTO 880,890

870 GOTO 93¢0

880 molx,y)=0:IF pil=1 THEN 1340 EL
SE GOSUB 1280:G0T0 930

890 mo(x,y)=0160SUB 1490:60T0 930
900 ‘'s========z==s==z====s=c=z===z======
910 ‘=== DEPLACEMENT FANTOMES ===
720 ‘====szzz==z===s===ss==z=zz=z=z====
930 N=0

940 IF F(I)={ THEN 1070

950 molx(i),yli))=0

960 N=N+1:IF R(N)=A(I) THEN 940

970 ON R(N) GDTD 980,1000,1020,1040
980 IF e(X(I),Y(I)-1)=0 THEN. Y{(I)=Y
(I)-1:A=2:160T0 1040

90 60TO 960

1000 IF E(X{I),Y(I)+1)=0 THEN Y(I)=
Y{I)+1:A=11G0OTO 1060

1010 GOTO 940

1020 IF E(X(I)=1,Y(I))=0 THEN X(I)=
X(I)-11A=41G0TO 10690

1030 GOTO 960

1040 IF E{X{I)#1,Y{I))=0 THEN X(I)=
X(I)+1:A=3:60T0 1060

1030 GOTO 960

1060 AfI)=Armo(x(i),y(i))=1

1070 A=INT{RND(4)*4+{):E=INT(RND(4)
*¥4+1):C=R(A)1R(A)=R(E)tR(E)=C

1080 ON q+1 BOTO 1090,1130

1090 i=i+1:q=13:60T0 930

1100 '‘=====z=zzzzczzzzs=s=z===zzz=z=z==
1110 '==s=z=ma=z== AFFICHAGE =========
1120 '===zzzzzszssss=s===szz=zz=z=z===
1130 LOCATE X1,Y1:PRINT" "3:LOCATE
XyYIPRINT CHR$(247+2%D+B)

1140 IF T(X,Y)=144 THEN SOUND 1,100
42,10 18C=8C+11LOCATE 7,211PRINT SC
tPT=PT+1:60T0 1160

1150 IF T(X,Y)=238 THEN FOR 0=1 TO
101SOUND 1,0#-10+150,1,15:NEXT D:8C
=§C+3 :LOCATE 7,21:PRINT SC:PIL=2:1
NK 12,26:AFTER t-50,1 GOSUB 1590
1160 T(X,Y)=32

1170 ON AC(I) GOTO 1180,1190,1200,12
10 '

1180 LOCATE X(I),Y(I)=-13PRINT CHR$!(
TEXAD) ,Y(E)=1))316GOTO 1220

1190 LOCATE X(I),Y(I)+1:PRINT CHR$(
TOXCI),Y(I)#1))};160TO 1220
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TAXCD)-1,¥41)))31:60T0 1220

1210 LOCATE X(I)+1,Y(I):PRINT CHR$(
TEXCL)#1,Y(1)))3:G0TO 1220

1220 PEN (12):LOCATE X(I),Y(I):PRIN
T My s PENTL)

1230 ON g+1 GOTO 1520,1240

1249
250
1260
1270
1280
1290
1300
131¢
1320
1330
1340
1350
1360
1370
1380

FOR 0=1 TO 4

IF X(0)<>X THEN 1320

IF Y(0)<>Y THEN 1320

GOTO 14640

NEXT O:RETURN

'=========PAC CAPUT !
LOCATE x1,y1:PRINT" "3

FOR O0=0 70 3
FOR J=1 70 100 STEFP 4
SOUND 1,J+0%90,1,12
NEXT J4,0

1390 vai=vi-1:IF vi<»0 THEN 1410
1400 LOCATE 5,9:a%=STRING$(11,CHR%{
154)):PRINT CHR$(150);a$;CHR$(156)¢
:LOCATE S,10:FRINT CHR$(149);:PEN(L
0):INK 10,18,23:PRINT " GAME QVER
1PEN (1) :PRINT CHR$(149)3::L0OCATE 5
+113PRINT CHR$(147):a$;CHR$(153);:C
LEAR INFUT:CALL &EBBO&:RUN

{410 LOCATE 7.23:FOR 0=t TO VI:PRIN
T CHRE(247) 1 sNEXT Q:FRINT"

1420 FOR I=1 TO 4:LOCATE X(I),Y(I):
FRINT CHR$(T{X{I) Y(I)) )yt NEXT L:ER
ASE mo:DIM mo(20,20)

1430 FOR I=1 TO 4:X{I)=t1:Y(])=11:A
(I)=2:NEXT I:X=10:Y=13:PIL=11B=0
1440 GOTO 700

1450 '=======FANTOME CAPUT ====
1460 LOCATE X,Y:PRINT CHR$(247+2%D+
BY3:LOCATE x1,vy1:PRINT" "::FOR J=1
TO 100 STEF 2:SOUND 1,-J+100,1,15:N
EXT 4
1470
1480
1490
1500
20
1510 '=====s=z====sz========s===z==zzz===
1320 IF PT=164 THEN SC=SC+50:PT=1{:R
ESTORE:CLS:ERASE mo:DIM ma(20,20):1
F SC>=MA THEN MA=MA+10000:VI=VI+1:6
0T0 1910:ELSE GOTO 1910

1530 ON 1 GOTO 710,710,700,710

1340 IF ERR<>S AND ERR<>9 THEN END
1550 IF ERL=1130 THEN x=20:RESUME
1560 IF ERL=840 THEN x=0:RESUME
1570 IF »(i)=0 THEN »(i)=20:1mo(0,10

5C=8C+100

LOCATE 7,21:FRINT SC

F(0)=1
¥10)=11:Y{(0)=11:A(0)=2:60T0 13
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)=0:RESUME

1580 x(i)=1:LOCATE 20,10:PRINT" ";:
RESUME

1390 AFTER t,1 GOSUB 1610

1600 INK 12,11,23:RETURN

1610 INK 12,18:pil=1:FOR M={ TO 4:¢
{MI=0:NEXT M:RETURN

1620 's====== FRUITE =====s==

1630 IF pt=1 OR vi=0 THEN RETURN
1640 fruit=l

1650 IF £=3 THEN i1LOCATE 10,13:PRIN
T CHR$(246):mo(10,13)=2:AFTER 300,2
GOSUR 16B0:RETURN

1660 LOCATE 10,13:PRINT CHR$(245):m

0(10,13)=2:AFTER 400,2 GOSUB 1480:R
ETURN
1670
1680 fruit=0:mo(10,13)=0:1LOCATE 10,
13:PRINT" "3 3sRETURN

1690 fruit=0:S0UND 1,50,10,,1

1700 IF £=3 THEN f=1:sc=sc+200:RETU
RN

1710
1720
1730 '==
1740

SEZ==s==sszS=====

1sc=sc+50:RETURN

+1
==z=s=s==s==ssz=z=z===z=z=z==s==

== PRESENTATION =====

‘Zzz=sss=s=zz=szzsszz=======

1750 CLEAR INPUT:CLS

1760 LOCATE S,1:a$=STRING$(9,CHR$ (1

54)):PRINT CHR$(150);a$;CHR$(156):

LOCATE 5,2:PRINT CHR$(149);:PRINT "

PAC MAN "3:PRINT CHR$(149);:LOCATE

S, 3:tPRINT CHR$(147);a$;CHR$(153);

1770 LOCATE S,10:PRINT CHR$(247);"
vous"

1780 LOCATE S5,12:PRINT CHR$(245);"
S0 POINTS"

1790 LOCATE S5,14:PRINT CHR$(246);"
200 POINTS"

1800 LOCATE S,16:PEN (10):INK 10,26

:PRINT CHR$(255);" 100 POINTS":P

EN (1)

1810 LOCATE 5,18:PRINT CHR$(144);"
1 POINT"

1820 LOCATE
o POINTS

1830 LOCATE

Olivier"

1840 WHILE INKEY$=""

1850 IF A=0 THEN A=1:GOTO 1870

1860 A=0

1870 LOCATE S5,10:PRINT CHR$(247+A);

1880 FOR I=1 TO 1000:NEXT I

1890 WEND

1900 CLS:RETURN

1910 ‘======= INTERCALAIRE ======

1920 PRINT" HAY ! HAY ! HAY !"

1930 TAG:A=0

J,20:PRINT CHR$(238);"

1,25:PRINT"(C) ROUSSEL

[2893)

T [10013

(7281
[3255]

(18891
[8751
[216]
(41901

(44831

[1579]
[3145]

(10081
[1661]

(11801
(17743
(10961
(17741
(8051
(107731

[1367]

[2606]
[3040]

[3575]

[29271]
[28101
(15791

[1095]
[1145]
[324]
[853]
[674]
[3901]
(8321
[1621]
[1441]
[562]




T

1940 FOR I=640 TO -BO STEP -6
1950 IF I<632 AND I>1 THEN MOVE I,5
0 1FRAME:PRINT CHR$(251+A);" "j:A=-

| A+11ELSE MOVE 5,501PRINT " *

1960 IF I+80<{632 AND I+B0>1 THEN MO

VE I+80,50 :FRAME:IPRINT M$;" ",
1970 NEXT

1980 TAGOFF:LOCATE 1,1:1PRINT"

GouLp ' "1 TAG

1990 FOR I=1 TO 100Q:NEXT I:FOR I=1
TO 10:SOUND 1,I%=10+150,1,15:NEXT
I

2000 TAGOFF:LOCATE 1,1:PRINT"

A TABLE ! "1 TAG

2010 FOR I={ TOD 700 STEP 8

2020 IF I<640 THEN MOVE I,S50:FRAME:
PRINT " "3;M$;:ELSE MOVE 638,50:PRIN
T

2030 IF I-60>1 THEN MOVE 1-40,50:FR
AME:PRINT " ";CHR$(247+A)j:1A==-A+l
2040 NEXT 1

2050 FOR I=1 TO 700:NEXT I

2060 TAGOFF:LOCATE 1,1:PRINT"
MIAM k
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2070 FOR J=1 TO 100 STEP 2:S50UND 1|,
=J+100,1,15:NEXT J

2080 TAGOFF:MODE 0:IF t>25 THEN t=t
-25

2090 GOTO 290

1400 LOCATE 5,9:a$=STRINGS$(11,CHRS(
154) ) tPRINT CHR$(150);a$;CHR$ (156);
tLOCATE 5,10:1PRINT CHR$(149);1PEN(]
0)tINK 10,18,23:PRINT " GAME OVER "
{1PEN (1) 3PRINT CHR$(149);:LOCATE 5
y11:PRINT CHR$(147)3a$;CHR$ (153)1:C
ALL &BBO3:CALL %BBO&:RUN

1750 CALL &BBO3:CLS

1950 IF 1<632 AND I>! THEN MOVE I,5
0 :PRINT CHRS$(251+A)3" "j:A=-A+1:EL
SE MOVE 5,50:1PRINT " "

1960 IF I+80<¢632 AND 1+B80>1 THEN MO
VE 1+480,50 :PRINT M$;" ",

2020 IF I<440 THEN MOVE 1,50:PRINT

" "yM$3:ELSE MOVE 638,50:PRINT" "3

2030 IF I-60>1 THEN MOVE 1-60,50:PR
INT “ “;CHR$(247+A);1A=-A+]
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